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GROUP—A / ®¡àK—A

PHYSICS / šƒà=¢[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. &A¡ì\àØl¡à ë®¡ït¡¹à[Å ™àìƒ¹ ³àyà &A¡Òü t¡à¹à Òº

(A) ‡–‡ * A¡à™¢

(B) ëA¡ï[oA¡ ®¡¹ì¤K * A¡à™¢

(C) ëW¡ï´¬A¡ìÛ¡y * ë¹à‹

(D) t¡[Øl¡; "à‹à> * í¤ƒå¸[t¡A¡ šøà¤º¸

2. Wå¡´¬A¡ãÚ óÃ¡àìG¹ ³à[yA¡ ó¡³¢åºà[i¡ Òº

(A) ML T I0 2 1- -

(B) ML T I2 1 1- -

(C) ML T I2 1 2- -

(D) ML T I2 2 1- -

3. íÑ‚[t¡A¡ QÈ¢o ¤ìº¹ ó¡ìº A¡à™¢

(A) ‹>àuA¡ Òì¤

(B) ˜¡oàuA¡ Òì¤

(C) Åè>¸ Òì¤

(D) l¡üšì¹¹ Î¤P¡[º
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Directions : Answer the following

questions by selecting the correct option.

1. The pair of physical quantities that

have the same dimensions is

(A) torque and work

(B) angular momentum and work

(C) magnetic field and resistance

(D) electric charge and electric

intensity

2. The dimensional formula for

magnetic flux is

(A) ML T I0 2 1- -

(B) ML T I2 1 1- -

(C) ML T I2 1 2- -

(D) ML T I2 2 1- -

3. Work done by force of static friction

(A) can be positive

(B) can be negative

(C) can be zero

(D) All of the above



4. Òê¡ƒ[šr¡ ‡à¹à A¡à™¢ šø[t¡ Òê¡ƒÑš–ƒì> 1 \åº¡ú ™[ƒ
Òê¡ƒ[šr¡ šø[t¡ [³[>ìi¡ 72 ¤à¹ Ñš[–ƒt¡ ÒÚ,
t¡àÒìº t¡à¹ Û¡³t¡à Òì¤

(A) 1·3

(B) 1·2

(C) 2·4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

5. ë™ [º®¡àì¹¹ ™à[”|A¡ Îå[¤‹à 1 ë=ìA¡ A¡³ t¡à¹

(A) "àº´¬ =àìA¡ ®¡à¹ * ¤à‹à¹ ³‹¸¤t¢¡ã [¤–ƒåìt¡

(B) ®¡à¹, ¤à‹à * "àºì´¬¹ ³ì‹¸ =àìA¡

(C) ¤à‹à, "àº´¬ * ®¡àì¹¹ ³ì‹¸ =àìA¡

(D) ®¡à¹ * ¤à‹à &A¡Òü [¤–ƒåìt¡ A¡à\ A¡ì¹

6. >t¡ t¡ìº¹ ™à[”|A¡ Îå[¤‹à Î¤¢ƒà

(A) 1 ë=ìA¡ A¡³

(B) 1-&¹ Î³à>

(C) 1 ë=ìA¡ ë¤Åã

(D) ëA¡àì>à[A¡áåÒü ¤ºà ™àÚ >à

7. ™[ƒ ë¤K v, ¤¸àÎà‹¢ r &¤} "[®¡A¡È¢\ Œ¹o g

ÒÚ, t¡àÒìº >ãìW¡¹ ëA¡à>[i¡ ³àyàÒã>?

(A)
v

rg

2

(B)
v r

g

2

(C)
v g

r

2

(D) v rg2

/11 3 [ P.T.O.

4. The work done by the heart is 1 J

per beat. The power of the heart if it

beats 72 times in 1 minute is

(A) 1·3

(B) 1·2

(C) 2·4

(D) None of the above

5. A lever for which the mechanical

advantage is less than 1 has

(A) fulcrum at midpoint between

load and effort

(B) load between effort and fulcrum

(C) effort between fulcrum and load

(D) load and effort acting at the

same point

6. The mechanical advantage of an

inclined plane is always

(A) less than 1

(B) equal to 1

(C) greater than 1

(D) Nothing can be said

7. If v is velocity, r is radius and g is

acceleration due to gravity, which of

the following is dimensionless?

(A)
v

rg

2

(B)
v r

g

2

(C)
v g

r

2

(D) v rg2



8. ™[ƒ 
r r r r
A B B A´ = ´  ÒÚ, t¡àÒìº 

r
A * 

r
B

ë®¡C¡ì¹¹ ³‹¸¤t¡¢ã ëA¡ào Òì¤

(A) p

(B) p/3

(C) p/2

(D) p/4

9. Î³¤õv¡ãÚ K[t¡ìt¡ >ãìW¡¹ ëA¡à>[i¡ ‹øç¡¤A¡ =àìA¡?

(A) K[t¡ì¤K

(B) ‰ç¡[t¡

(C) Œ¹o

(D) K[t¡ì¤K * ‰ç¡[t¡ ƒå[i¡Òü

10. 100 m l¡üZW¡t¡àÎ´šÄ &A¡[i¡ *ÚàWô¡-i¡à*Úàì¹¹
l¡üš¹ ë=ìA¡ &A¡[i¡ ¤åìºi¡ 10 m/s K[t¡ì¤ìK
">å®è¡[³A¡®¡àì¤ ëáòàØl¡à Òº¡ú A¡t¡ Î³Ú šì¹
¤åìºi¡[i¡ ³à[i¡ ÑšÅ¢ A¡¹ì¤?

(A) 3·2 s

(B) 4·5 s

(C) 3·6 s

(D) 10 s

11. ai bj$ $+  ë®¡C¡ì¹¹ º´¬ ë®¡C¡¹[i¡ Òº

(A) bi aj$ $+

(B) ai bj$ $-

(C) ( ) $a b j+

(D) ( ) $a b k-
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8. If 
r r r r
A B B A´ = ´ , the angle between

vectors 
r
A and 

r
B  is

(A) p

(B) p/3

(C) p/2

(D) p/4

9. Which of the following quantities

remains constant in a uniform

circular motion?

(A) Velocity

(B) Speed

(C) Acceleration

(D) Both velocity and speed

10. A bullet is fired horizontally at a

velocity 10 m/s from a watchtower

100 m high. How long does it take to 

reach the ground?

(A) 3·2 s

(B) 4·5 s

(C) 3·6 s

(D) 10 s

11. A vector perpendicular to ai bj$ $+  is

(A) bi aj$ $+

(B) ai bj$ $-

(C) ( ) $a b j+

(D) ( ) $a b k-



12. SO NAR >ãìW¡¹ ëA¡à>ô ‹¹ì>¹ t¡¹U [>@Î¹o
A¡ì¹?

(A) ë¹[l¡*

(B) "àìºàA¡

(C) Åì¦àv¡¹

(D) Wå¡´¬A¡ãÚ

13. >ãìW¡¹ ëA¡à>[i¡ ëÑHºà¹ ¹à[Å?

(A) Å[v¡û¡

(B) Œ¹o

(C) K[t¡ì¤K

(D) ¤º

14. t¡[Øl¡;¤àÒã Î[º>ìÚìl¡¹ ³‹¸¤t¢¡ã Ñ‚àì> Wå¡´¬A¡ãÚ
¤ºì¹JàP¡[º

(A) ƒ[Û¡o ë³¹ç¡ ë=ìA¡ l¡üv¡¹ ë³¹ç¡¹ [ƒìA¡
‹à¤³à>

(B) l¡üv¡¹ ë³¹ç¡ ë=ìA¡ ƒ[Û¡o ë³¹ç¡¹ [ƒìA¡
‹à¤³à>

(C) "¤Ñ‚à> A¡ì¹ >à

(D) ƒr¡ Wå¡´¬ìA¡¹ šøÑ‚ìZáìƒ¹ ëÛ¡yó¡ìº¹ l¡üš¹
[>®¢¡¹ A¡ì¹

15. >tå¡> "à”z\¢à[t¡A¡ >ã[t¡ ">åÎàì¹ [>l¡üi¡öàº t¡àì¹¹
¹} Òº

(A) A¡àìºà

(B) ÒàºA¡à >ãº

(C) Î¤å\

(D) ºàº
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12. SONAR emits which of the following

waves?

(A) Radio

(B) Light

(C) Ultrasonic

(D) Magnetic

13. Which of the following is a scalar

quantity?

(A) Energy

(B) Acceleration

(C) Velocity

(D) Force

14. The magnetic lines of force inside a

solenoid carrying a current

(A) are from South pole to North

pole

(B) are from North pole to South

pole

(C) do not exist

(D) depend upon the area of cross-

section of the bar magnet

15. According to new international

convention, the colour of neutral

wire is

(A) black

(B) light blue

(C) green

(D) red



16. Ñ‚àÚã Wå¡´¬ìA¡¹ N * S ë³¹ç¡¹ ³àìc¡ &A¡[i¡ Aå¡r¡ºã
ABCD Ñ‚àš> A¡¹à Òº &¤} t¡à¹ ³ì‹¸ [ƒìÚ
>ãìW¡¹ á[¤ ">åÎàì¹ t¡[Øl¡; šø¤à[Òt¡ A¡¹à Òº :

Aå¡r¡ºã[i¡ Qå¹ìt¡ Ç¡¹ç¡ A¡¹ì¤

(A) Q[Øl¡¹ Aò¡ài¡à¹ [¤š¹ãìt¡

(B) Q[Øl¡¹ Aò¡ài¡à¹ [ƒìA¡

(C) &¤} "ì‹¢A¡ Qèo¢ì>¹ š¹ [ƒA¡ š[¹¤t¢¡>
A¡¹ì¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

17. &A¡[i¡ í¤ƒå¸[t¡A¡ ¤à[t¡ 220 V * 100 W

Î´šÄ¡ú ™[ƒ &[i¡ìA¡ 110 V ºàÒüì>¹ Îàì= ™åv¡û¡ 
A¡¹à ÒÚ, t¡àÒìº t¡à¹ Û¡³t¡à Òì¤

(A) 100 W

(B) 75 W

(C) 50 W

(D) 25 W

18. 10 cm ëó¡àA¡àÎ íƒQ¢¸[¤[ÅÊ¡ &A¡[i¡ l¡üv¡º
ëºìX¹ ë=ìA¡ 15 cm ƒèì¹ &A¡[i¡ ¤Ññ ¹àJà
Òº¡ú šø[t¡[¤ì´¬¹ ‹¹> Òì¤

(A) [¤¤[‹¢t¡, "Îƒô

(B) [¤¤[‹¢t¡, Îƒô

(C) Ûå¡‰t¡¹, Îƒô

(D) Ûå¡‰t¡¹, "Îƒô
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16. A coil ABCD is placed between N and 

S pole of a permanent magnet and

current is passed through ABCD as

shown in the figure below :

The coil begins to rotate

(A) anticlockwise

(B) clockwise

(C) and after half rotation it

changes direction

(D) None of the above

17. An electric bulb is rated 220 V and

100 W. When it is operated on

110 V, the power consumed will be

(A) 100 W

(B) 75 W

(C) 50 W

(D) 25 W

18. An object is placed at 15 cm from a

convex lens of focal length 10 cm.

The nature of the image formed will

be

(A) magnified, virtual

(B) magnified, real

(C) diminished, real

(D) diminished, virtual

C

B

D
A

S N

C

B

D
A

S N



19. "[®¡‹àì>¹ Ûå¡‰ ëºJàP¡[º ëƒJìt¡ tå¡[³ ëA¡à>ô
‹¹ì>¹ ëºX ¤¸¤Òà¹ A¡¹àìA¡ šøà‹à>¸ ëƒì¤?

(A) l¡üv¡º ëºX ™à¹ f  = 50 cm

(B) "¤t¡º ëºX ™à¹ f  = 50 cm

(C) l¡üv¡º ëºX ™à¹ f  = 5 cm

(D) "¤t¡º ëºX ™à¹ f  = 5 cm

20. ëA¡à> ¤à¾ ë=ìA¡ ëA¡à> "àìºàA¡ >ãìW¡ ëA¡à>ô
‹¹ì>¹ ëÛ¡ìy Î³à”z¹àº "àìºàA¡¹[Æµ l¡ü;šÄ
A¡¹ì¤?

(A) "¤t¡º ƒš¢o ¤à "¤t¡º ëºX ƒåìi¡à ëÛ¡ìyÒü

(B) "¤t¡º ƒš¢o ¤à l¡üv¡º ëºX ƒåìi¡à ëÛ¡ìyÒü

(C) l¡üv¡º ƒš¢o ¤à l¡üv¡º ëºX ƒåìi¡à ëÛ¡ìyÒü

(D) l¡üv¡º ƒš¢o ¤à "¤t¡º ëºX ƒåìi¡à ëÛ¡ìyÒü

21. "¤t¡º ëºìX¹ [¤¤‹¢> Î¤¢ƒàÒü

(A) 1 ë=ìA¡ ë¤Åã

(B) 1 &¹ Î³à>

(C) 1 ë=ìA¡ A¡³

(D) 1 ë=ìA¡ ë¤Åã "=¤à A¡³

22. >ãìW¡¹ ëA¡à>ô ¤v¡û¡¤¸[i¡ Ît¡¸?

(A) ³åJKÔ¹ š¹ãÛ¡à A¡¹ìt¡ [W¡[A¡;ÎA¡¹à l¡üv¡º
ƒš¢o ¤¸¤Òà¹ A¡ì¹>

(B) šø[t¡ó¡ºA¡ [ÒÎàì¤ "¤t¡º ƒš¢o ¤¸¤Òà¹
A¡¹à ÒÚ

(C) šø[t¡ó¡ºA¡ [ÒÎàì¤ l¡üv¡º ƒš¢o ¤¸¤Òà¹ A¡¹à
ÒÚ

(D) ƒà[Øl¡ A¡à³àì>à¹ Î³Ú l¡üv¡º ƒš¢o ¤¸¤Òà¹
A¡¹à l¡ü[W¡t¡
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19. Which of the following lenses would

you prefer to use while reading small 

letters found in a dictionary?

(A) Convex lens of f = 50 cm

(B) Concave lens of f = 50 cm

(C) Convex lens of f = 5 cm

(D) Concave lens of f = 5 cm

20. Which of the following can make a

parallel beam of light when light

from a bulb falls on it?

(A) Concave mirror as well as

concave lens

(B) Concave mirror as well as

convex lens

(C) Convex mirror as well as convex 

lens

(D) Convex mirror as well as

concave lens

21. Magnification produced by a

concave lens is always

(A) more than 1

(B) equal to 1

(C) less than 1

(D) more than 1 or less than 1

22. Which one among the following

statements is correct?

(A) Convex mirrors are used by

doctors to examine oral cavity

(B) Concave mirrors are used as

reflectors

(C) Convex mirrors are used as

reflectors

(D) Convex mirrors should be used

for shaving



23. "šô[i¡A¡¸àº t¡àì¹¹ ³ì‹¸ [ƒìÚ "àìºà¹ W¡ºàW¡º
t¡à¹ "àA¡àì¹¹ l¡üš¹ [>®¢¡¹ A¡ì¹ >à, A¡à¹o &[i¡
&³> &A¡[i¡ t¡à¹ ™à¹ ³ì‹¸ [ƒìÚ [ÎKô>¸àº &A¡
šøà”z ë=ìA¡ ">¸ šøàì”z ™àÚ &¤} &Òü Qi¡>à[i¡ Qìi¡

(A) "àìºà¹ [¤Záå¹ìo¹ \>¸

(B) "àìºà¹ šø[t¡Î¹ìo¹ \>¸

(C) "àìºà¹ Î³¤t¢¡ì>¹ \>¸

(D) "àìºà¹ "®¡¸”z¹ão šèo¢ šø[t¡ó¡ºì>¹ \>¸

24. ™J> ëA¡à> "àìºàA¡¹[Æµ &A¡ ³à‹¸³ ë=ìA¡ ">¸
³à‹¸ì³ ™àÚ, t¡J>

(A) t¡¹UîƒQ¢¸ Î³à> =àìA¡

(B) A¡´šà}A¡ Î³à> =àìA¡

(C) A¡´šà}A¡ ¤àìØl¡

(D) t¡¹UîƒQ¢¸ ¤àìØl¡

25. &A¡[i¡ šàìy¹ ë®¡t¡ì¹ &A¡[i¡ &A¡ i¡àA¡à¹ ³å‰à
¹àJà Òº¡ú t¡à¹ ³ì‹¸ &¤à¹ \º n¡àºà ÒÚ
&³>®¡àì¤ ë™> \ìº¹ l¡üZW¡t¡à 20 cm ÒÚ¡ú ™[ƒ
\ìº¹ šø[t¡Î¹à}A¡ 4/3 ÒÚ, t¡àÒìº ³å‰à[i¡ ëƒJà 
™àì¤

(A) 20 cm K®¡ã¹t¡àÚ

(B) 26 cm &¹ A¡àáàA¡à[á

(C) 15 cm K®¡ã¹t¡àÚ

(D) 25 cm K®¡ã¹t¡àÚ

26. &A¡[i¡ "àìºàA¡ ³à‹¸ì³¹ šø[t¡Î¹à}A¡ š[¹¤[t¢¡t¡
ÒÚ

I. ³à‹¸ì³¹ šøAõ¡[t¡¹ l¡üš¹

II. ³à‹¸ì³¹ t¡àš³àyà¹ š[¹¤t¢¡ì>¹ l¡üš¹

III. "àš[t¡t¡ "àìºà¹ ¹}-&¹ l¡üš¹

>ãìW¡ ëƒ*Úà ëA¡àl¡ ¤¸¤Òà¹ A¡ì¹ Î[k¡A¡ l¡üv¡¹[i¡
[>¤¢àW¡> A¡¹ :

ëA¡àl¡

(A) I &¤} III

(B) II &¤} III

(C) I &¤} II

(D) I, II &¤} III
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23. Light travels in optical fibre
irrespective of its shape because it
is a device by which signals can
be transferred from one location
to another. It is based on the
phenomenon of

(A) diffraction of light

(B) refraction of light

(C) polarization of light

(D) total internal reflection of light

24. When a ray of light is going from

one medium to another, its

(A) wavelength remains same

(B) frequency remains same

(C) frequency increases

(D) wavelength increases

25. A one-rupee coin is placed at the
bottom of a vessel. Water is then
poured into the vessel such that the
depth of water becomes 20 cm. If
water has refractive index 4/3, the
coin would be seen at a depth of

(A) 20 cm

(B) about 26 cm

(C) 15 cm

(D) 25 cm

26. Refractive index of an optical

medium changes with

I. the nature of the medium

II. the change in temperature of

the medium

III. colour of the incident ray

Select the correct answer using the

codes given below :

Codes

(A) I and III

(B) II and III

(C) I and II

(D) I, II and III



27. >ãìW¡¹ ëA¡à>ô Qi¡>à[i¡ "àìºà¹ ¤àÚå³r¡ºãÚ
šø[t¡Î¹ìo¹ \>¸ ÒÚ >à?

(A) ¹àìt¡ >Û¡ìy¹ [c¡[A¡[³[A¡ A¡¹à

(B) Îèì™¢àƒìÚ¹ Î³Ú Îè™¢ìA¡ šøAõ¡t¡ l¡üZW¡t¡à¹
l¡üšì¹ ëƒJà ™àÚ

(C) Îèì™¢àƒìÚ¹ 2 [³[>i¡ "àìK Îè™¢ ƒõÅ¸³à> ÒÚ

(D) Îè™¢àìÑz Îè™¢ìA¡ ºàº ëƒJàÚ

28. ™J> Å¦t¡¹U ëA¡à> ³à‹¸ì³¹ ³ì‹¸ [ƒìÚ ™àÚ,
t¡J>

(A) ¤ÑñA¡oàP¡[º &A¡ \àÚKà ë=ìA¡ ">¸
\àÚKàÚ ™àÚ

(B) Å[v¡û¡¹ šø¤àÒ [>[ƒ¢Ê¡ K[t¡ìt¡ ÒÚ

(C) Å[v¡û¡¹ šø¤àÒ š™¢àÚyû¡ì³ ÒÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

29. >ãìW¡¹ ëA¡à>[i¡ Îå¹™åv¡û¡ Åì¦¹ í¤[ÅÊ¡¸ >Ú?

(A) t¡ãÝ¡t¡à

(B) P¡o

(C) t¡¹UîƒQ¢¸

(D) šøà¤º¸ ¤à t¡ã¤øt¡à

30. ¤àÚåìt¡ Åì¦¹ ë¤K šø®¡à[¤t¡ ÒÚ >à >ãìW¡¹ ëA¡à>ô
š[¹¤t¢¡ì>¹ \>¸?

(A) ¤àÚå¹ "à‰¢t¡à¹ š[¹³ào

(B) ¤àÚå¹ t¡àš³àyà

(C) ¤àÚå¹ W¡àš

(D) ¤àÚå¹ l¡üšàƒà>

31. šø[t¡‹ÿk[> ëÅà>à¹ \>¸ l¡ü;Î * šø[t¡ó¡ºìA¡¹ ³ì‹¸ 
>ȩ̀ >t¡³ ƒè¹Œ Òì¤

(A) 10 m (B) 17 m

(C) 34 m (D) 50 m
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27. Which of the following is not caused

by the atmospheric refraction of

light?

(A) Twinkling of stars is at night

(B) Sun appears higher in the

sky than it, during sunrise

(C) Sun becomes visible two

minutes before actual sunrise

(D) Sun appears red at sunset

28. When sound wave travels through a

medium, then

(A) particles are transferred from

one place to another

(B) energy is transferred at constant

speed

(C) energy is transferred periodically

(D) None of the above

29. Which of the following is not a

characteristic of a musical sound?

(A) Pitch

(B) Quality

(C) Wavelength

(D) Intensity

30. The velocity of sound in air is not

affected by change in

(A) mois ture con tent in air

(B) tem per a ture of air

(C) at mo spheric pressure

(D) com po si tion of air

31. The minimum distance between the

source and the reflector in air, so

that echo is heard, is approximately

equal to

(A) 10 m (B) 17 m

(C) 34 m (D) 50 m



32. >ãìW¡ Åì¦¹ ëA¡à>ô í¤[ÅÊ¡¸[i¡ t¡àš³àyà š[¹¤t¢¡ì>¹ 
Îàì= šø®¡à[¤t¡ ÒÚ?

(A) t¡¹UîƒQ¢¸

(B) [¤Ñzà¹

(C) šøà¤º¸

(D) A¡´šà}A¡

33. >ãìW¡¹ ëA¡à>ô \àt¡ãÚ ¤Ññ¹ ëÛ¡ìy *Ò³ãÚ ë¹à‹
t¡àš³àyà ¤àØl¡à¹ Îàì= A¡ì³?

(A) t¡à³à

(B) A¡à¤¢>

(C) šà¹ƒ

(D) šÃ¸à[i¡>à³

34. ëA¡àìÈ¹ t¡[Øl¡ZW¡àºA¡ ¤º [>®¢¡¹ A¡ì¹

(A) t¡[Øl¡;‡à¹P¡[º¹ l¡üšàƒàì>¹ l¡üš¹

(B) t¡[Øl¡;‡à¹P¡[º¹ "àA¡àì¹¹ l¡üš¹

(C) t¡[Øl¡;‡à¹P¡[º¹ ³‹¸¤t¢¡ã ƒè¹ìŒ¹ l¡üš¹

(D) t¡[Øl¡;[¤ìÅÃìÈ¸¹ š[¹³àìo¹ l¡üš¹

35. 3 W &¹ šòàW¡[i¡ ë¹à‹ >ãìW¡¹ [W¡y ">åÎàì¹ ™åv¡û¡
A¡¹à Òìº, X * Y [¤–ƒå¹ ³ì‹¸ ë¹à‹ Òì¤

(A) 8 W

(B) 9 W

(C) 15 W

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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32. Which of the following character-

istics of sound is affected by the

change in temperature?

(A) Wavelength

(B) Amplitude

(C) Intensity

(D) Frequency

33. For which of the following substances

in an ohmic resistance decreases

with increase in temperature?

(A) Copper

(B) Carbon

(C) Mercury

(D) Platinum

34. The e.m.f. of a cell depends upon

(A) material of the electrodes

(B) the shape of the electrodes

(C) the distance between the

electrodes

(D) the amount of electrolytes

35. Five resistors, each 3 W are

connected as shown in the figure

below, resistance between X and Y is

(A) 8 W

(B) 9 W

(C) 15 W

(D) None of the above

3 W 3 W

3 W

3 W 3 W

X Y

3 W 3 W

3 W

3 W 3 W

X Y



36. &A¡[i¡ í¤ƒå¸[t¡A¡ ™ì”|¹ KàìÚ 1500 W, 250 V 

ëºJà ¹ìÚìá¡ú &Òü ™”|[i¡ ™[ƒ 25 V ë³Òüì>¹
Îàì= ™åv¡û¡ A¡¹à ÒÚ, t¡àÒìº šø¤àÒ³àyà Òì¤

(A) 10 A

(B) 6 A

(C) 25 A

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

37. t¡[Øl¡;¤àÒã &A¡[i¡ Î[º>ìÚìl¡¹ ³ì‹¸ Wå¡´¬A¡ãÚ ëÛ¡y

(A) Òì¤ Åè>¸

(B) ™[ƒ šøàì”z¹ [ƒìA¡ ™à*Úà ™àÚ t¡àÒìº A¡³ì¤

(C) ™[ƒ šøàì”z¹ [ƒìA¡ ™à*Úà ™àÚ t¡àÒìº ¤àØl¡ì¤

(D) Î¤ \àÚKàÚ Î³à> =àA¡ì¤

38. 2 W ë¹àì‹¹ ³ì‹¸ [ƒìÚ 5 A t¡[Øl¡;šø¤àÒ
30 min ‹ì¹ Òìº t¡[Øl¡;Å[v¡û¡¹ W¡àº>à Òì¤

(A) 0·25 kWh

(B) 0·025 kWh

(C) 2·250 kWh

(D) 0·05 kWh

39. ë®¡ïìKà[ºA¡ "ìÛ¡¹ Îàì= šõ[=¤ã¹ t¡[Øl¡;ìÛ¡y
A¡t¡ [l¡Nøã ëA¡àìo "à>t¡ "àìá?

(A) 15°

(B) 25°

(C) 30°

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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36. An electrical appliance is rated

1500 W, 250 V. This appliance is

connected to 25 V mains. What is

the current drawn?

(A) 10 A

(B) 6 A

(C) 25 A

(D) None of the above

37. The magnetic field inside a long

solenoid carrying current

(A) is zero

(B) decreases as we move towards

its ends

(C) increases as we move towards

its ends

(D) is the same at all points

38. Energy transferred by a 5 A current

flowing through a resistor of 2 W for

30 min is

(A) 0·25 kWh

(B) 0·025 kWh

(C) 2·250 kWh

(D) 0·05 kWh

39. The axis of earth’s magnetic field is

inclined at an angle of about how

much with the geographical axis?

(A) 15°

(B) 25°

(C) 30°

(D) None of the above



40. &A¡[i¡ t¡[Øl¡;¤àÒã š[¹¤àÒã¹ ëW¡ï´¬A¡ìÛ¡y >ãìW¡
[W¡ìy¹ ÎàÒàì™¸ ëƒJàì>à Òº, ë™[i¡ Òº &A¡[i¡

(A) º´¬à ëÎà\à t¡à¹

(B) ëKàºàA¡à¹ Aå¡r¡ºã

(C) Î[º>ìÚl

(D) ë¤òìi¡ ëÎà\à t¡à¹

41. t¡[Øl¡;šø¤àìÒ¹ Wå¡´¬A¡ãÚ ó¡º "à[¤ÍHà¹ A¡ì¹[áìº>

(A) ³¸àG*ìÚº

(B) ëóÃ¡[³}

(C) *¹ìÐ¡l¡

(D) ó¡¸à¹àìl¡

42. &A¡[i¡ t¡[Øl¡;¤àÒã š[¹¤àÒã &A¡ƒ³ l¡üº´¬®¡àì¤
Ñ‚àš> A¡¹à Òº¡ú Q[Øl¡¹ Aò¡ài¡à¹ [ƒìA¡ Qèo¢>Åãº
t¡[Øl¡;ìÛ¡ìy š[¹¤àÒã[i¡ W¡à[¹[ƒìA¡ Îõ[Ê¡ A¡¹ìt¡ Òìº 
šø¤àÒ³àyà¹ [ƒA¡ Òì¤

(A) l¡üš¹ ë=ìA¡ >ãìW¡¹ [ƒìA¡

(B) ¤à³ ë=ìA¡ l¡à>[ƒìA¡

(C) >ãW¡ ë=ìA¡ l¡üš¹ [ƒìA¡

(D) l¡à> ë=ìA¡ ¤à³ [ƒìA¡

43. š[ÆW¡³ [ƒìA¡ ‹à¤³à> a A¡oà¹ ¹[Æµ ëW¡ï´¬A¡
ëÛ¡ìy¹ šø®¡àì¤ l¡üv¡¹ [ƒìA¡ [¤[Û¡œ¡ ÒÚ¡ú ëW¡ï´¬A¡
ëÛ¡ìy¹ [ƒA¡ Òì¤

(A) ƒ[Û¡o [ƒìA¡

(B) šè¤¢ [ƒìA¡

(C) >ãìW¡¹ [ƒìA¡

(D) l¡üšì¹¹ [ƒìA¡
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40. The diagram given below represents

magnetic field caused by a current-

carrying conductor which is

(A) a long straight wire

(B) a circular coil

(C) a solenoid

(D) a short straight wire

41. The magnetic effect of current was

discovered by

(A) Maxwell

(B) Fleming

(C) Oersted

(D) Faraday

42. A current-carrying conductor is held 

in exactly vertical direction. In order

to produce a clockwise magnetic

field around the conductor, the

current should be passed in the

conductor

(A) from top towards bottom

(B) from left towards right

(C) from bottom towards top

(D) from right towards left

43. A stream of a particles moving

towards West is deflected towards

North by a magnetic field. The

direction of magnetic field is

(A) towards South

(B) towards East

(C) downwards

(D) upwards



44. >ãìW¡¹ ëA¡à>ô ¤v¡û¡¤¸[i¡ Î[k¡A¡ >Ú?

(A) ë®¡àÂi¡[³i¡àì¹¹ ÎàÒàì™¸ [¤®¡¤ šøì®¡ƒ ³àšà
ÒÚ

(B) ë™ ƒå[i¡ [¤–ƒå¹ ³ì‹¸ [¤®¡¤ šøì®¡ƒ ³àšà Òì¤
t¡àìƒ¹ Îàì= ë®¡àÂi¡[³i¡à¹ Î³à”z¹àìº ™åv¡û¡
A¡¹à ÒÚ

(C) ë®¡àÂi¡[³i¡àì¹¹ ë¹à‹ A¡³ ÒÚ ™àìt¡ &[i¡
¤t¢¡>ã ë=ìA¡ >Ko¸ š[¹³àìo t¡[Øl¡;šø¤àÒ
[>ìt¡ šàì¹

(D) ë®¡àÂi¡[³i¡àì¹¹ l¡àÚàº šàk¡ A¡ì¹ "à³¹à
[¤®¡¤ šøì®¡ìƒ¹ ³à> ë®¡àìÂi¡ [>o¢Ú A¡¹ìt¡
šà[¹

45. Åyç¡[¤³à> ë=ìA¡ šø[t¡ó¡[ºt¡ t¡¹U
0·02 mil li sec ond š¹ &A¡[i¡ ¹àl¡à¹ Å>àv¡û¡
A¡¹ìt¡ šàì¹¡ú ™[ƒ t¡¹ìU¹ ë¤K 3 108´ m s/

ÒÚ, t¡àÒìº [¤³à> * ¹àl¡àì¹¹ ³‹¸¤t¢¡ã ƒè¹Œ Òì¤

(A) 1·5 km

(B) 6 km

(C) 3 km

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

46. >ãìW¡¹ ëA¡à>ô ¤v¡û¡¤¸[i¡ ">å>àìƒ¹ Îàì= Î´šA¢¡™åv¡û¡ 
>Ú?

(A) A¡´šì>¹ [¤Ñzà¹ "ì>A¡ [¤Ñzõt¡ ÒÚ

(B) ¤Ññ¹ A¡´šì>¹ ƒÅà šø™åv¡û¡ š™¢àÚ¤õv¡ ¤ìº¹
ƒÅà &A¡Òü ÒÚ

(C) šø™åv¡û¡ š™¢àÚ¤õv¡ ¤º "šÎà¹o A¡¹à¹ š¹
³ày "¿ Î³Ú A¡´š> Ñ‚àÚã ÒÚ

(D) ¤Ññ¹ Ñ¬à®¡à[¤A¡ A¡´šà}A¡ šø™åv¡û¡ š™¢àÚ¤õv¡
¤ìº¹ A¡´šà}ìA¡¹ Î³à> ÒÚ
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44. Which of the following statements is

wrong?

(A) The p.d. is measured by

voltmeter

(B) Voltmeter is always connected

in parallel across two points

where p.d. is to be measured

(C) Voltmeter has a low resistance

so that it takes a negligible

current from the circuit

(D) We can read the value of p.d. in

volts on the dial of the voltmeter

45. A Radar is able to detect the

reflected wave from the enemy

aeroplane after a time interval of

0·02 millisecond. If the velocity of

the wave is 3 108´ m s/ , then the

distance of aeroplane from the

Radar is

(A) 1·5 km

(B) 6 km

(C) 3 km

(D) None of the above

46. Which one of the following

statements does not  match with

resonant vibration?

(A) The amplitude of vibration is

very large

(B) The vibration of the body is in

phase with external periodic

force

(C) These vibrations last for a very

small time after the periodic

force has ceased to act

(D) Vibration of the body under

an external periodic force of

frequency is exactly equal to

natural frequency of the body



47. &A¡[i¡ [ºóô¡i¡ a Œ¹o [>ìÚ >ãìW¡¹ [ƒìA¡ >à³ìá¡ú
[ºó¡ìi¡¹ ³ì‹¸ &A¡[i¡ ³à>åÈ ¤º áåòØl¡º¡ú [ºó¡ìi¡
ƒòà[Øl¡ìÚ =àA¡à ³à>åÈ[i¡¹ ÎàìšìÛ¡ ¤º[i¡¹ Œ¹o *
[ºó¡ìi¡¹ ¤àÒüì¹ ƒòà[Øl¡ìÚ =àA¡à &A¡[i¡ ³à>åìÈ¹
ÎàìšìÛ¡ ¤º[i¡¹ Œ¹o ™=àyû¡ì³ Òì¤

(A) g, g (B) g a g a- -,

(C) g a g- , (D) a, g

48. a Î³Œ¹ìo W¡º³à> &A¡[i¡ [šø\ì³¹ QÈ¢oÒã> t¡º
¤¹à¤¹ &A¡[i¡ ¤ÃA¡ ¹àJà Òº >ãìW¡¹ [W¡yà>åÎàì¹ :

¤ÃA¡[i¡ K[Øl¡ìÚ šØl¡ì¤ >à, ™[ƒ ëA¡ào q ÒÚ

(A) sin ( / )-1 a g (B) tan ( / )-1 a g

(C) sin ( / )-1 g a (D) tan ( / )-1 g a

49. \ìº¹ "àìš[Û¡A¡ t¡àìš¹ ³à> Òº

(A) 4200 J/kg/K

(B) 420 J/g/K

(C) 0·42 J/g/K

(D) 4·2 J/kg/K

50. 0·84 J/g/K "àìš[Û¡A¡ t¡àšÎ´šÄ 40 °C

l¡üÌ¡t¡à¹ &A¡[i¡ t¡¹º A-&¹ A¡t¡ ®¡ì¹¹ Îàì=
2·1 J/g/K "àìš[Û¡A¡ t¡àšÎ´šÄ 20 °C

l¡üÌ¡t¡à¹ "à¹ &A¡[i¡ t¡¹º B-&¹ 100 g

ë³Åàìº [³Åøìo¹ t¡àš³àyà 32 °C Òì¤?

(A) 475 g

(B) 375 g

(C) 300 g

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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47. A lift is moving down with an

acceleration a. A man in the lift

drops a ball inside the lift. The

accelerations of the ball as observed

by the man in the lift and by a man

standing stationary on the ground

are respectively

(A) g, g (B) g a g a- -,

(C) g a g- , (D) a, g

48. A block placed on a frictionless

inclined surface of a prism that is

moving with uniform acceleration a

does not slip down the plane as

shown in the figure below :

The angle q is given by

(A) sin ( / )-1 a g (B) tan ( / )-1 a g

(C) sin ( / )-1 g a (D) tan ( / )-1 g a

49. The specific heat capacity of water is

(A) 4200 J/kg/K

(B) 420 J/g/K

(C) 0·42 J/g/K

(D) 4·2 J/kg/K

50. What mass of liquid A of specific

heat capacity 0·84 J/g/K at a

temperature 40 °C must be mixed

with 100 g at a liquid B of specific

heat capacity 2·1 J/g/K at 20 °C so

that final temperature of mixture

becomes 32 °C?

(A) 475 g

(B) 375 g

(C) 300 g

(D) None of the above

q

a

q

a



GROUP—B / ®¡àK—B

CHEMISTRY / ¹ÎàÚ>ÅàÑ|

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

51. 20 gm ®¡ì¹¹ ëA¡à> K¸àìÎ¹ STP ët¡ "àÚt¡>
ÒÚ 5·6 [ºi¡à¹¡ú K¸àÎ[i¡¹ ¤àÍšQ>Œ Òì¤

(A) 10

(B) 40

(C) 20

(D) 80

52. ¤õv¡àA¡à¹ A¡Û¡šì=¹ šàÅàšà[Å l¡üš¤õv¡àA¡à¹
A¡Û¡šì=¹ ‹à¹oà[i¡ šø=³ šø¤t¢¡> A¡ì¹>

(A) ë¤à¹

(B) ¹àƒà¹ìó¡àl¢¡

(C) ÒàÒüì\>¤àK¢

(D) ëÎà³à¹[ó¡Á¡

53. 10 8- ( )M  ³àyà¹ HCl \ºãÚ ‰¤ìo¹ pH-&¹

³à> Òì¤

(A) 8

(B) 6

(C) 7 &¤} 8-&¹ ³ì‹¸

(D) 6 &¤} 7-&¹ ³ì‹¸
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Directions : Answer the following

questions by selecting the correct option.

51. The volume of 20 gm of a gas at

STP is 5·6 L. Its vapour density is

(A) 10

(B) 40

(C) 20

(D) 80

52. The idea of elliptical orbits in

addition to the circular orbits was

first introduced by

(A) Bohr

(B) Rutherford

(C) Heisenberg

(D) Sommerfeld

53. The pH value of 10 8- ( )M  HCl

solution in water is

(A) 8

(B) 6

(C) in between 7 and 8

(D) in between 6 and 7



54. >ãìW¡¹ ëA¡à>[i¡ ‹àtå¡A¡¿?

(A) Sb

(B) Cs

(C) Pb

(D) Xe

55. ëA¡–ƒøãÚ š¹³àoåìt¡ [>@ÎU ÒüìºC¡ö> ë\àØl¡ ¤t¢¡³à>, 
&³> "oå[i¡ Òº

(A) CCl4

(B) BF3

(C) NH3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

56. Òüì=> "oåìt¡ C—C ¤Þê¡> íƒQ¢¸ Òº

(A) 1·20 Å

(B) 1·54 Å

(C) 1·34 Å

(D) 1·39 Å

57. "[G"¸à[Î[i¡[º> [ÅJà¹ t¡àš³àyà šøàÚ

(A) 1300 °C

(B) 3300 °C

(C) 2100 °C

(D) 1000 °C
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54. Which of the following is a

metalloid?

(A) Sb

(B) Cs

(C) Pb

(D) Xe

55. Lone pair of electrons is present in

the central atom of

(A) CCl4

(B) BF3

(C) NH3

(D) None of the above

56. C—C bond length in ethane

molecule is

(A) 1·20 Å

(B) 1·54 Å

(C) 1·34 Å

(D) 1·39 Å

57. The temperature of oxyacetylene

flame is nearly

(A) 1300 °C

(B) 3300 °C

(C) 2100 °C

(D) 1000 °C



58. J¹ \ºìA¡ ³õƒå A¡¹ìt¡ ¤¸¤Òê¡t¡ A¡¸àºK>-&¹
¹àÎàÚ[>A¡ Î}ìA¡t¡ Òº

(A) Na Na PO4 2 4 6[ ( ) ]

(B) Na Na PO2 4 4 6[ ( ) ]

(C) Na Na PO2 4 3 6[ ( ) ]

(D) Na Na PO4 2 3 6[ ( ) ]

59. ëA¡à> &A¡[i¡ šƒà=¢ X-&¹ \ìº ‰à¤¸t¡à t¡àš³àyà 
¤õ[‡ý¡¹ ÎìU ‰ç¡t¡ ¤õ[‡ý¡ šàÚ¡ú šƒà=¢ X Òº

(A) ši¡à[ÅÚà³ >àÒüìi¡öi¡

(B) ëÎà[l¡Úà³ ëAÃ¡à¹àÒül¡

(C) ëÎà[l¡Úà³ Îàºìó¡i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

60. ZnSO4 ‰¤o ¹àJà ™àÚ >à

(A) Cu šàìy

(B) Fe šàìy

(C) Al šàìy

(D) Ag šàìy

61. A¡t¡ Nøà³ A¡à¤¢>ìA¡ ƒÒ> A¡¹ìº 33 gm CO2

l¡ü;šÄ Òì¤?

(A) 9 gm

(B) 12 gm

(C) 6 gm

(D) 16·5 gm
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58. Calgon used for softening hard

water, has the chemical formula

(A) Na Na PO4 2 4 6[ ( ) ]

(B) Na Na PO2 4 4 6[ ( ) ]

(C) Na Na PO2 4 3 6[ ( ) ]

(D) Na Na PO4 2 3 6[ ( ) ]

59. The solubility of a substance X

in water increases rapidly with

increasing temperature. The subs-

tance X is

(A) potassium nitrate

(B) sodium chloride

(C) sodium sulphate

(D) None of the above

60. ZnSO4 solution cannot be kept in

(A) Cu vessel

(B) Fe vessel

(C) Al vessel

(D) Ag vessel

61. How many grams of carbon is to be

burnt to produce 33 gm of CO2?

(A) 9 gm

(B) 12 gm

(C) 6 gm

(D) 16·5 gm



62. >ãìW¡¹ ëA¡à>ô ë³ïº[i¡¹ ëÛ¡ìy S-ÒüìºC¡ö> &¤}
P-ÒüìºC¡öì>¹ Î}J¸à Î³à>?

(A) A¡à¤¢>

(B) [Î[ºA¡>

(C) >àÒüìi¡öàì\>

(D) "[Gì\>

63. 4 gm NaOHëA¡ \ìº ‰¤ã®è¡t¡ A¡ì¹ "àÚt¡>
500 mL A¡¹à Òº¡ú ‰¤o[i¡¹ ë³àºà[¹[i¡ Òì¤

(A) 0·8

(B) 0·1

(C) 0·4

(D) 0·2

64. Òü=à>º P O
X2 5¾ ®¾ ¾¾ , X Òº

(A) Òüì=>

(B) Òü=àÒü>

(C) Òü[=>

(D) Òü=à>¸àº

65. ëšøàìš> "oå ë=ìA¡ ƒå[i¡ H-š¹³àoå, Cl-š¹³àoå
‡à¹à šø[t¡Ñ‚à[št¡ Òìº l¡ü;šÄ Kk¡>Kt¡
"àÒüìÎà³àì¹¹ Î}J¸à Òì¤

(A) 3

(B) 4

(C) 5

(D) 2
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62. Which one of the following elements

contains equal number of

S-electrons and P-electrons?

(A) Carbon

(B) Silicon

(C) Nitrogen

(D) Oxygen

63. 4 gm of NaOH is dissolved in water

and the volume of the solution is

made up to 500 mL. Molarity of the

solution is

(A) 0·8

(B) 0·1

(C) 0·4

(D) 0·2

64. Ethanol 
P O

X2 5¾ ®¾ ¾¾ , X is

(A) ethane

(B) ethyne

(C) ethene

(D) ethanal

65. The number of structural isomers

obtained when the two H-atoms of

propane molecule are substituted by 

Cl-atoms is

(A) 3

(B) 4

(C) 5

(D) 2



66. >ãìW¡¹ ëA¡à>[i¡ Î[Þê¡Kt¡ ë³ïº >Ú?

(A) Zn

(B) Cu

(C) V

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

67. ë™Î¤ š¹³àoå¹ [>l¡üi¡ö> Î}J¸à Î³à> [A¡”ñ ëšøài¡>
Î}J¸à šõ=A¡, t¡àìƒ¹ ¤ºà ÒÚ

(A) "àÒüìÎàìi¡àš

(B) "àÒüìÎà¤à¹

(C) "àÒüìÎàìi¡à>

(D) "àÒüìÎàÐ¡à¹

68. >ãìW¡¹ ëA¡à>[i¡ Û¡à¹A¡?

(A) ClOH

(B) Mg OH( )2

(C) SO OH2 2( )

(D) PO OH( )3

69. "ì=¢à- &¤} š¸à¹à-ÒàÒüìl¡öàì\> šøƒÅ¢> A¡ì¹

(A) &A¡Òü ¹àÎàÚ[>A¡ ‹³¢ [A¡”ñ [®¡Ä ë®¡ït¡ ‹³¢

(B) &A¡Òü ë®¡ït¡ &¤} ¹àÎàÚ[>A¡ ‹³¢

(C) &A¡Òü ë®¡ït¡ ‹³¢ [A¡”ñ [®¡Ä ¹àÎàÚ[>A¡ ‹³¢

(D) [®¡Ä ë®¡ït¡ &¤} ¹àÎàÚ[>A¡ ‹³¢
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66. Which one of the following is not a

transition element?

(A) Zn

(B) Cu

(C) V

(D) None of the above

67. Atoms which have the same number 

of neutrons but different number of

protons are called

(A) isotopes

(B) isobars

(C) isotones

(D) isosters

68. Which of the following is a base?

(A) ClOH

(B) Mg OH( )2

(C) SO OH2 2( )

(D) PO OH( )3

69. Ortho- and para-hydrogens have

(A) identical chemical but different

physical properties

(B) identical physical and chemical

properties

(C) identical physical but different

chemical properties

(D) different physical and chemical

properties



70. "¸àºå[³>à Òº

(A) Al OH( )3

(B) Al

(C) NaAlO2

(D) Al O2 3

71. [>³—[º[Jt¡ ëA¡à>ô [³Åøo[i¡ "[N—[>¤¢àšA¡ ™ì”|
¤¸¤Òê¡t¡ ÒÚ?

(A) Na SO H SO2 4 2 4+

(B) NaHCO H SO3 2 4+

(C) Na CO H SO2 3 2 4+

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

72. &A¡[i¡ ÒüìºC¡öì>¹ ®¡¹ Òº

(A) 1 67 10 24× ´ - g

(B) 9 11 10 28× ´ - g

(C) 9 11 10 24× ´ - g

(D) 1 67 10 28× ´ - g

73. 100 mL 0·1 (M ) H SO2 4 ‰¤oìA¡ šøÅ[³t¡
A¡¹ìt¡ šøìÚà\>ãÚ NaOH &¹ š[¹³ào Òº

(A) 0·2 g

(B) 0·8 g

(C) 0·4 g

(D) 0·16 g
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70. Alumina is

(A) Al OH( )3

(B) Al

(C) NaAlO2

(D) Al O2 3

71. Which of the following mixtures is

used in fire extinguishers?

(A) Na SO H SO2 4 2 4+

(B) NaHCO H SO3 2 4+

(C) Na CO H SO2 3 2 4+

(D) None of the above

72. Mass of an electron is

(A) 1 67 10 24× ´ - g

(B) 9 11 10 28× ´ - g

(C) 9 11 10 24× ´ - g

(D) 1 67 10 28× ´ - g

73. To neutralize the 100 mL 0·1 (M )   

H SO2 4 solution, the required amount

of NaOH is

(A) 0·2 g

(B) 0·8 g

(C) 0·4 g

(D) 0·16 g



74. [>³—[º[Jt¡ ëA¡à>ô "oå[i¡¹ ëÛ¡ìy, ëA¡–ƒøãÚ
š¹³àoå[i¡ "Ê¡A¡ Îèy ë³ì> W¡ìº >à?

(A) AlCl3

(B) SF2

(C) CO2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. F -, Na + , Mg2+  &¤} Al3+  &¹ "àÚ>ãÚ

¤¸àÎàì‹¢¹ Î[k¡A¡ yû¡³ Òº

(A) F Na Mg Al- + + +< < <2 3

(B) F Al Mg Na- + + +< < <3 2

(C) Al Mg F Na3 2+ + - +< < <

(D) Al Mg Na F3 2+ + + -< < <

76. n-[¤l¡üìi¡> &¤} "àÒüìÎà-[¤l¡üìi¡> Òº

(A) "¤Ñ‚à>Kt¡ "àÒüìÎà³à¹

(B) A¡à™¢A¡¹ã³èºA¡ K[k¡t¡ "àÒüìÎà³à¹

(C) ÅõVJº "àÒüìÎà³à¹

(D) ë³i¡à³à¹

77. [³ìÎº-&¹ &A¡[i¡ l¡üƒàÒ¹o Òº

(A) ëÎà[l¡Úà³ [Ð¡Úàì¹i¡-&¹ ‰¤o

(B) ëÎà[l¡Úà³ "¸à[Îìi¡i¡-&¹ ‰¤o

(C) ëÎà[l¡Úà³ >àÒüìi¡öi¡-&¹ ‰¤o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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74. In which of the following molecules,

the central atom does not obey the

octet rule?

(A) AlCl3

(B) SF2

(C) CO2

(D) None of the above

75. The correct order of ionic radii of

F - , Na + , Mg2+  and Al3+  is

(A) F Na Mg Al- + + +< < <2 3

(B) F Al Mg Na- + + +< < <3 2

(C) Al Mg F Na3 2+ + - +< < <

(D) Al Mg Na F3 2+ + + -< < <

76. n-butane and iso-butane are

(A) position isomers

(B) function group isomers

(C) chain isomers

(D) metamers

77. An example of micelle is

(A) solution of sodium stearate

(B) solution of sodium acetate

(C) solution of sodium nitrate

(D) None of the above



78. t¡à³à¹ t¡[Øl¡; [¤ìÅà‹ì>¹ Î³Ú, "Ç¡[‡ý¡ ¹ê¡ìš
l¡üš[Ñ‚t¡ [A¡áå ‹àtå¡ ‘"¸àì>àl¡ ³àl¡’ >àì³ >ãìW¡
\³à ÒÚ¡ú &Òü ‹àtå¡P¡[º Òº

(A) Ag &¤} Sn

(B) Pb &¤} Zn

(C) Fe &¤} Au

(D) Ag &¤} Au

79. >ãìW¡¹ ëA¡à>[i¡ìt¡ Î¤¢à[‹A¡ Î}J¸A¡ "oå ¤t¢¡³à>?

(A) 1 g H2

(B) 2 g N2

(C) 4 g O2

(D) 8 g CO2

80. Be, B &¤} C š¹³àoå¹ šø=³ "àìÚà>àÒüì\Å>
Å[v¡û¡¹ ³à> kJ/mole &A¡ìA¡ ™=àyû¡ì³

(A) 800, 900, 1086

(B) 900, 800, 1086

(C) 1086, 900, 800

(D) 800, 1086, 900

81. [>*ìšì–i¡> "oåìt¡ [³=àÒüº Nøç¡ìš¹ Î}J¸à Òº

(A) 2

(B) 3

(C) 4

(D) 1
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78. During the process of electrolytic

refining of copper, some metals

present as impurity settle down as

‘anode mud’. These are

(A) Ag and Sn

(B) Pb and Zn

(C) Fe and Au

(D) Ag and Au

79. Which of the following contains

maximum number of molecules?

(A) 1 g H2

(B) 2 g N2

(C) 4 g O2

(D) 8 g CO2

80. The first ionization energies in

kJ/mole of Be, B and C atoms are

respectively

(A) 800, 900, 1086

(B) 900, 800, 1086

(C) 1086, 900, 800

(D) 800, 1086, 900

81. The number of methyl group(s)

present in the molecule of

neopentane is

(A) 2

(B) 3

(C) 4

(D) 1



82. ëºl¡ >àÒüìi¡öi¡ìA¡ t¡ã¤ø®¡àì¤ l¡üv¡œ¡ A¡¹ìº ¤àƒà³ã
¤ìo¢¹ &A¡[i¡ K¸àÎ [>K¢t¡ ÒÚ¡ú K¸àÎ[i¡ Òº

(A) N2

(B) N O2

(C) NO2

(D) NO

83. H O O H O O2 2 3 2 22+ ® +  &Òü [¤[yû¡ÚàÚ

(A) H O2 2 Òº \à¹A¡ &¤} O3 Òº [¤\à¹A¡
šƒà=¢

(B) O3 Òº \à¹A¡ &¤} H O2 2 Òº [¤\à¹A¡
šƒà=¢ 

(C) H O2 2 Òº \à¹A¡ &¤} [¤\à¹A¡ l¡ü®¡Ú
šƒà=¢

(D) O3 Òº \à¹A¡ &¤} [¤\à¹A¡ l¡ü®¡Ú šƒà=¢

84. Òã¹A¡ ëA¡ºàìÎ C—C—C ¤Þê¡> ëA¡àìo¹ ³à>
Òº

(A) 109 28° ¢

(B) 107 28° ¢

(C) 120°

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

85. ëA¡à> &A¡[i¡ ë¹[l¡* ëÐ¡Å> ë=ìA¡ 980 kHz

A¡´šàìS¡ Î´ßW¡à¹ A¡¹à ÒÚ¡ú &Òü Î´ßW¡àì¹ t¡[Øl¡;-
Wå¡´¬A¡ãÚ [¤[A¡¹ìo¹ t¡¹UîƒQ¢¸ Òì¤

(A) 980 m

(B) 490 m

(C) 360 m

(D) 306 m
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82. Lead nitrate when heated strongly, a 

brown coloured gas is evolved. The

gas is

(A) N2

(B) N O2

(C) NO2

(D) NO

83. In the reaction

H O O H O O2 2 3 2 22+ ® +

(A) H O2 2 is oxidizing and O3 is

reducing agent

(B) O3 is oxidizing and H O2 2 is

reducing agent

(C) H O2 2 is both oxidizing and

reducing agent

(D) O3 is both oxidizing and

reducing agent

84. C—C—C bond angle in diamond

crystal is

(A) 109 28° ¢

(B) 107 28° ¢

(C) 120°

(D) None of the above

85. A certain radio station broadcasts

at a frequency of 980 kHz. The

wavelength of electromagnetic

radiation broadcasts by the radio

station is

(A) 980 m

(B) 490 m

(C) 360 m

(D) 306 m



86. ®¡à¹ã \ìº¹ "ào[¤A¡ ®¡¹ Òº

(A) 20

(B) 18

(C) 22

(D) 24

87. A¡¸àì=àl¡ ¹[Æµ šø¤à[Òt¡ ÒÚ

(A) A¡¸àì=àìl¡¹ [ƒìA¡

(B) "¸àì>àìl¡¹ [ƒìA¡

(C) A¡¸àì=àl¡ &¤} "¸àì>àl¡ ëA¡à> [ƒìA¡Òü >Ú

(D) A¡¸àì=àl¡ &¤} "¸àì>àl¡ l¡ü®¡Ú [ƒìA¡Òü

88. >ãìW¡¹ ëA¡à>[i¡ šà¹"GàÒül¡?

(A) KO2

(B) MnO2

(C) PbO2

(D) BaO2

89. š™¢àÚ Îà¹oã¹ ëA¡à>ô Nøç¡ìš A¡[k¡>, t¡¹º &¤}
K¸àÎãÚ &Òü [t¡> ‹¹ì>¹ ë³ïºÒü šà*Úà ™àÚ?

(A) Nøç¡š 0

(B) Nøç¡š II

(C) Nøç¡š VII

(D) Nøç¡š V
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86. Molecular mass of heavy water is

(A) 20

(B) 18

(C) 22

(D) 24

87. Cathode rays move towards

(A) cathode

(B) anode

(C) neither cathode nor anode

(D) both cathode and anode

88. Which of the following is a peroxide?

(A) KO2

(B) MnO2

(C) PbO2

(D) BaO2

89. In which group of the periodic table,

solid, liquid and gaseous—all three

types of elements are found?

(A) Gr 0

(B) Gr II

(C) Gr VII

(D) Gr V



90. ëA¡à> t¡[Øl¡;[¤ìÅÃÈ¸ šƒàì=¢¹ ‰¤ìo¹ [®¡t¡¹ [ƒìÚ
t¡[Øl¡; š[¹¤à[Òt¡ ÒÚ ë™ šƒàì=¢¹ K[t¡Åãºt¡à¹
\>¸, ëÎÒü šƒà=¢[i¡ Òº

(A) š¹³àoå

(B) "àÚ>

(C) ÒüìºC¡ö>

(D) "oå

91. &A¡[i¡ ë³ïº X, ƒå[i¡ "àÒüìÎàìi¡àš¹ê¡ìš šøAõ¡[t¡ìt¡
"¤Ñ‚à> A¡ì¹, ™àìƒ¹ ®¡¹ Î}J¸à ™=àyû¡ì³ Z + 2

&¤} Z -1 . ™[ƒ ë³ïº[i¡¹ šà¹³ào[¤A¡ ®¡¹ Z

ÒÚ, t¡ì¤ Òà»¡à "àÒüìÎàìi¡àš[i¡¹ šøàWå¡™¢t¡à¹
Åt¡A¡¹à š[¹³ào Òì¤

(A) 36·67

(B) 66·66

(C) 63·33

(D) 33·34

92. [>³—[º[Jt¡ H-¤Þê¡ì>¹ ³ì‹¸ ëA¡à>[i¡ Î¤¢à[‹A¡
Å[v¡û¡Åàºã?

(A) O—H---S

(B) S—H---O

(C) F—H---O

(D) F—H---F

93. &A¡[i¡ ƒàÒ¸ K¸àÎ Òº

(A) CO

(B) CO2

(C) O2

(D) N O2
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90. The passage of electric current in a

solution of an electrolyte is due to

the movement of

(A) atoms

(B) ions

(C) electrons

(D) molecules

91. An element X occurs in nature in the 

form of two isotopes having mass

number Z + 2 and Z -1 respectively.

If the atomic mass of the element

is Z, then the percentage abundance 

of lighter isotope will be

(A) 36·67

(B) 66·66

(C) 63·33

(D) 33·34

92. Which of the following H-bonds is

strongest?

(A) O—H---S

(B) S—H---O

(C) F—H---O

(D) F—H---F

93. A combustible gas is

(A) CO

(B) CO2

(C) O2

(D) N O2



94. >ãìW¡¹ ëA¡à>[i¡ š[º³à¹ ë™ïK?

(A) PTFE

(B) DDT

(C) BHC

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

95. ëA¡àºìÚl¡ A¡oàìt¡ ë™ t¡[Øl¡; "à‹à> ™åv¡û¡ "àìá t¡à 
\à>à¹ š¹ãÛ¡à[i¡ Òº

(A) ÒüìºìC¡öàºàÒü[ÎÎ

(B) "Îì³à[ÎÎ

(C) ÒüìºìC¡öàìó¡àì¹[ÎÎ

(D) l¡àÚà[º[ÎÎ

96. ëA¡à> ‹àtå¡ M-&¹ &A¡[i¡ š¹³àoå¹ "àÚt¡> 
1 66 10 23× ´ - cc. ™[ƒ ‹àtå¡[i¡¹ Q>Œ

2·7 gm/cc ÒÚ, t¡ì¤ l¡üÒà¹ šà¹³ào[¤A¡ ®¡¹
Òì¤

(A) 54

(B) 27

(C) 72

(D) 45

97. "[t¡šõv¡û¡ ‰¤o l¡ü;šÄ A¡ì¹ &³> šƒà=¢[i¡ Òº

(A) ëÎà[l¡Úà³ >àÒüìi¡öi¡

(B) ëÎà[l¡Úà³ ëAÃ¡à¹àÒül¡

(C) ëÎà[l¡Úà³ =àìÚàÎàºìó¡i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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94. Which of the following is a polymeric 

compound?

(A) PTFE

(B) DDT

(C) BHC

(D) None of the above

95. The presence of electric charge on

the colloidal particle is indicated by

the experiment

(A) electrolysis

(B) osmosis

(C) electrophoresis

(D) dialysis

96. The volume of one atom of a metal M

is 1 66 10 23× ´ - cc. If the density of

the metal is 2·7 gm/cc, then its

atomic mass will be

(A) 54

(B) 27

(C) 72

(D) 45

97. The substance which forms a super- 

saturated solution is

(A) sodium nitrate

(B) sodium chloride

(C) sodium thiosulphate

(D) None of the above



98. >ãìW¡¹ ëA¡à>ô ë™ïK[i¡ ëÎà[l¡Úà³ ‹àtå¡¹ ÎìU
[¤[yû¡Úà A¡ì¹ >à?

(A) [¤l¡üi¡-1-"àÒü>

(B) ëšøàšàÒü>

(C) Òü=àÒü>

(D) [¤l¡üi¡-2-"àÒü>

99. SO2 Åãt¡º \ìº¹ ÎìU [¤[yû¡Úà A¡ì¹ l¡ü;šÄ
A¡ì¹

(A) H SO2 3

(B) H SO2 5

(C) H SO2 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

100. ëA¡à> º¤ìo¹ \ºãÚ ‰¤o "´Ã‹³¢ã ÒÚ¡ú º¤o[i¡
Òº

(A) KCl

(B) NH Cl4

(C) CH COONa3

(D) NaCl
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98. Which of the following compounds

does not react with metallic sodium?

(A) But-1-yne

(B) Propyne

(C) Ethyne

(D) But-2-yne

99. SO2 reacts with cold water

producing

(A) H SO2 3

(B) H SO2 5

(C) H SO2 4

(D) None of the above

100. Aqueous solution of a salt is acidic

in nature. The salt is

(A) KCl

(B) NH Cl4

(C) CH COONa3

(D) NaCl



GROUP—C / ®¡àK—C

MATHEMATICS / K[ot¡

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

101. ™[ƒ x y: := 4 3 ÒÚ, t¡ì¤ 
( ) : ( )5 8 6 7x y x y+ -   Òì¤

(A) 43 : 3

(B) 44 : 3

(C) 46 : 3

(D) 47 : 3

102. ™[ƒ šø[t¡ 6 ³àÎ "”z¹ W¡yû¡¤õ[‡ý¡ Îåƒ [ÒÎà¤ A¡¹à
ÒÚ, t¡ì¤ ¤à[È¢A¡ 12% Òàì¹ R8,000-&¹
1 ¤;Îì¹¹ W¡yû¡¤õ[‡ý¡ Îåƒ Òì¤

(A) R988·80

(B) R480

(C) R508·80

(D) R888·80

103. &A¡[i¡ i¡öàA¡ &A¡ [³[>ìi¡ 550 metre ƒè¹Œ
"[t¡yû¡³ A¡ì¹ &¤} &A¡[i¡ ¤àÎ 3

4
 Qsi¡àÚ 33 km

ƒè¹Œ "[t¡yû¡³ A¡ì¹¡ú i¡öàA¡ * ¤àìÎ¹ K[t¡ì¤ìK¹
">åšàt¡ Òì¤

(A) 4 : 3

(B) 2 : 3

(C) 3 : 4

(D) 3 : 2
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Directions : Answer the following

questions by selecting the correct option.

101. If x y: := 4 3, then ( ) : ( )5 8 6 7x y x y+ -

is

(A) 43 : 3

(B) 44 : 3

(C) 46 : 3

(D) 47 : 3

102. The compound interest on R8,000

for 1 year at 12 percent per annum

compounded half-yearly is

(A) R988·80

(B) R480

(C) R508·80

(D) R888·80

103. A truck covers a distance of

550 metre in one minute whereas a

bus covers a distance of 33 km in
3
4
 hour. The ratio of their speeds is

(A) 4 : 3

(B) 2 : 3

(C) 3 : 4

(D) 3 : 2



104. šøã[t¡ ³à[ÎA¡ R1,500 [A¡[Ñzìt¡ 8 ³àìÎ¹
ë³Úàìƒ ëšï>@šå[>A¡ "à³à>ìt¡ &A¡[i¡ ¤¸àìS¡
¹àìJ>¡ú ë³Úàƒàì”z šøã[t¡ ¤¸àS¡ ë=ìA¡ ë³ài¡ A¡t¡
i¡àA¡à šàì¤>? ëƒ*Úà "àìá ¤¸àìS¡¹ Îåìƒ¹ Òà¹
¤à[È¢A¡ 12% &¤} šø[t¡ ³àìÎ¹ ëÅìÈ Îåƒ [ÒÎà¤
A¡¹à ÒÚ¡ú

(A) R10,540

(B) R12,000

(C) R11,540

(D) R12,540

105. 2 ¤á¹ šèì¤¢ &A¡[i¡ ë³[Å> yû¡Ú A¡¹à ÒìÚ[áº¡ú
šø[t¡ ¤á¹ ÒüÒà¹ ³èº¸ 10% ÒùàÎ šàÚ¡ú ÒüÒà¹
¤t¢¡³à> ³èº¸ R9,72,000 Òìº, ë³[Å>[i¡ A¡t¡
i¡àA¡àÚ yû¡Ú A¡¹à ÒìÚ[áº?

(A) R12,00,000

(B) R11,00,000

(C) R10,00,000

(D) R9,00,000

106. ™[ƒ yû¡Ú³èº¸ &¤} [¤yû¡Ú³èìº¸¹ ">åšàt¡ 6 : 5

ÒÚ, t¡ì¤ Û¡[t¡ Òì¤

(A) 15 2
3

%

(B) 16 2
3

%

(C) 15%

(D) 16%
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104. Preeti deposited R1,500 per month

in a bank for 8 months under the

Recurring Deposit Scheme. What

will be the maturity value of her

deposits? Given that the rate of

interest is 12% per annum and

interest is calculated at the end of

every month.

(A) R10,540

(B) R12,000

(C) R11,540

(D) R12,540

105. A machine was purchased 2 years

ago. Its value decreases by 10%

every year. Its present value is

R9,72,000. For how much was the

machine purchased?

(A) R12,00,000

(B) R11,00,000

(C) R10,00,000

(D) R9,00,000

106. If the ratio of cost price and selling

price is 6 : 5, then the loss is

(A) 15 2
3

%

(B) 16 2
3

%

(C) 15%

(D) 16%



107. 4[i¡ A¡ºì³¹ yû¡Ú³èº¸ R1. A¡º³P¡[º [¤[yû¡ A¡ì¹
™[ƒ 33 1

3
% ºà®¡ ÒÚ, t¡ì¤

(A) 5[i¡ A¡ºì³¹ [¤yû¡Ú³èº¸ R1 Òì¤

(B) 3[i¡ A¡ºì³¹ [¤yû¡Ú³èº¸ R1 Òì¤

(C) 6[i¡ A¡ºì³¹ [¤yû¡Ú³èº¸ R1 Òì¤

(D) 7[i¡ A¡ºì³¹ [¤yû¡Ú³èº¸ R1 Òì¤

108. ax by c+ =  &¤} 2 2 2ax by c+ =  Î³ãA¡¹o
ƒå[i¡¹ Î³à‹à> Î}J¸à Òì¤

(A) 0

(B) 1

(C) "Î}J¸

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

109. ( )x x x3 23 18 54+ + +  &¹ l¡ü;šàƒA¡P¡[º Òº

(A) ( )x - 3  &¤} ( )x 2 18+

(B) ( )x + 3  &¤} ( )x 2 18+

(C) ( )x + 3  &¤} ( )x 2 18-

(D) ( )x - 3  &¤} ( )x 2 18-
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107. The cost price of 4 pens is R1. After

selling the pens if the profit is

33 1
3

%, then

(A) selling price of 5 pens is R1

(B) selling price of 3 pens is R1

(C) selling price of 6 pens is R1

(D) selling price of 7 pens is R1

108. The number of solutions of

the equations ax by c+ =  and 

2 2 2ax by c+ =  is

(A) 0

(B) 1

(C) infinite

(D) None of the above

109. The factors of ( )x x x3 23 18 54+ + +

are

(A) ( )x - 3  and ( )x 2 18+

(B) ( )x + 3  and ( )x 2 18+

(C) ( )x + 3  and ( )x 2 18-

(D) ( )x - 3  and ( )x 2 18-



110. ( )
1 1 1 1

0
x x b a a b

b-
+

= -
+

¹  Î³ãA¡¹ìo¹

¤ã\P¡[º Òº

(A) a &¤} - -a b

(B) a &¤} a b+

(C) -a &¤} - -a b

(D) -a &¤} a b+

111. ™[ƒ 
x y

A
+

=
2

, xy G=  &¤} 
2xy

x y
H

+
=

ÒÚ, t¡ì¤ [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ Ît¡¸?

(A) H
G

A
=

(B) H
G

A
=

2

(C) H
A

G
=

2

(D) H
A

G
=

112. ™[ƒ log3 2 = a ÒÚ, t¡ì¤ log27
8-&¹ ³à> Òì¤

(A) a3

(B) a2

(C)
a

3

(D) a
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110.
The roots of

  ( )
1 1 1 1

0
x x b a a b

b-
+

= -
+

¹

are

(A) a and - -a b

(B) a and a b+

(C) -a and - -a b

(D) -a and a b+

111. If 
x y

A
+

=
2

, xy G=  and 
2xy

x y
H

+
= ,

then which one of the following is

true?

(A) H
G

A
=

(B) H
G

A
=

2

(C) H
A

G
=

2

(D) H
A

G
=

112. If log3 2 = a, then the value of log27
8

is

(A) a3

(B) a2

(C)
a

3

(D) a



113. ™[ƒ - £
-

£1
3 4

7
5

x
 ÒÚ, t¡ì¤ x-&¹ ¤õÒv¡³

&¤} Ûå¡‰t¡³ ³à> Òì¤ ™=àyû¡ì³

(A) 13 &¤} –1

(B) –1 &¤} 13

(C) 3 &¤} 10

(D) –13 &¤} 1

114. &A¡[i¡ Î³¤à× [y®å¡ì\¹ [t¡>[i¡ ¤à×¹ íƒQ¢¸ 
( )2 3 1x y- +  cm, ( )x y+ -1 cm &¤}
( )3 9x y- -  cm Òìº, [y®å¡\[i¡¹ š[¹Îã³à
Òì¤

(A) 19 cm

(B) 20 cm

(C) 21 cm

(D) 22 cm

115. ƒå[i¡ Î}J¸à¹ ë™àKó¡º 15 &¤} t¡àìƒ¹
"ì>à>¸ìA¡¹ ë™àKó¡º 3

10
. Î}J¸à ƒå[i¡ Òì¤

™=àyû¡ì³

(A) 7 &¤} 8

(B) 10 &¤} 5

(C) 12 &¤} 3

(D) 9 &¤} 6

116. ™[ƒ A = { , }1 2  ÒÚ, t¡ì¤ A-&¹ Qàt¡ ëÎìi¡¹
šƒ Î}J¸à Òì¤

(A) 4

(B) 3

(C) 2

(D) 1
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113. If - £
-

£1
3 4

7
5

x
, then the greatest

and least values of x are re spec tively

(A) 13 and –1

(B) –1 and 13

(C) 3 and 10

(D) –13 and 1

114. If the lengths of three sides of

an equilateral triangle are 

( )2 3 1x y- +  cm, ( )x y+ -1 cm and 

( )3 9x y- -  cm, then the perimeter of

the triangle is

(A) 19 cm

(B) 20 cm

(C) 21 cm

(D) 22 cm

115. The sum of two numbers is 15 and

the sum of their reciprocals is 3
10

.

The two numbers are respectively

(A) 7 and 8

(B) 10 and 5

(C) 12 and 3

(D) 9 and 6

116. If A = { , }1 2 , then the number of

elements in power set of A is

(A) 4

(B) 3

(C) 2

(D) 1



117. >ãìW¡¹ ëA¡à>[i¡ Î[t¡¸ >Ú?

(A) ™[ƒ A, B  &¤} C  ë™-ëA¡à> [t¡>[i¡ [>[ƒ¢Ê¡
ëÎi¡ ÒÚ, t¡ì¤

           A B C A B A CÈ Ç = È Ç È( ) ( ) ( )

(B) ™[ƒ A &¤} B ë™-ëA¡à> ƒå[i¡ [>[ƒ¢Ê¡ ëÎi¡
ÒÚ, t¡ì¤ ( )A B A BÇ ¢ = ¢ È ¢

(C) ™[ƒ A, B  &¤} C  ë™-ëA¡à> [t¡>[i¡ [>[ƒ¢Ê¡
ëÎi¡ ÒÚ, t¡ì¤

           A B C A B A C- È = - Ç -( ) ( ) ( )

(D) ™[ƒ A &¤} B  ë™-ëA¡à> ƒå[i¡ [>[ƒ¢Ê¡ ëÎi¡
ÒÚ &¤} A BÍ  ÒÚ, t¡ì¤ A B BÇ =

118. ABCD Îà³à”z[¹ìA¡¹ BC ¤à×¹ Î[Ä[Òt¡ ƒå[i¡
ëA¡àìo¹ ">åšàt¡ 4 : 5 Òìº, ëA¡ào ƒå[i¡¹ ³à>
Òì¤ ™=àyû¡ì³

(A) 90°, 90°

(B) 80°, 100°

(C) 70°, 110°

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

119. ABCD Îà³à”z[¹ìA¡¹ AC &¤} BD A¡o¢‡Ú
š¹Ñš¹ìA¡ O [¤–ƒåìt¡ ëáƒ A¡ì¹¡ú ™[ƒ 
Ð = °DAC 32  &¤} Ð = °AOB 70  ÒÚ, t¡ì¤ 
ÐDBC  Òì¤

(A) 32°

(B) 70°

(C) 38°

(D) 110°
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117. Which one of the following is not

true?

(A) If A, B  and C  be any three finite

sets, then

           A B C A B A CÈ Ç = È Ç È( ) ( ) ( )

(B) If A and B  are any two finite

sets, then ( )A B A BÇ ¢ = ¢ È ¢

(C) If A, B  and C  be any three finite

sets, then

           A B C A B A C- È = - Ç -( ) ( ) ( )

(D) If A and B  are any two finite sets 

and A BÍ , then A B BÇ =

118. The ratio of two adjacent angles of

the side BC of a parallelogram ABCD

is 4 : 5. The values of these angles

are respectively

(A) 90°, 90°

(B) 80°, 100°

(C) 70°, 110°

(D) None of the above

119. The diagonals AC and BD of a

parallelogram ABCD intersect at O.

If Ð = °DAC 32  and Ð = °AOB 70 , then 

ÐDBC  is

(A) 32°

(B) 70°

(C) 38°

(D) 110°



120. ABCD i¡öà[š[\Úàì³¹ AB DC||  &¤} ÒüÒà¹
A¡o¢‡Ú š¹Ñš¹ìA¡ O [¤–ƒåìt¡ ëáƒ A¡ì¹¡ú ™[ƒ 
AB CD= 3  ÒÚ, t¡ì¤ DAOB  &¤} DCOD-

&¹ ëÛ¡yó¡ìº¹ ">åšàt¡ Òì¤

(A) 9 : 1

(B) 2 : 9

(C) 3 : 1

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

121. ƒå[i¡ ¤õv¡ š¹Ñš¹ìA¡ ¤[Ò@Ñ‚®¡àì¤ ÑšÅ¢ A¡ì¹¡ú
t¡àìƒ¹ ëA¡–ƒø‡ìÚ¹ ³‹¸¤t¢¡ã ƒè¹Œ 7 cm. ™[ƒ
&A¡[i¡ ¤õìv¡¹ ¤¸àÎà‹¢ 4 cm ÒÚ, t¡ì¤ "š¹
¤õv¡[i¡¹ ¤¸àÎà‹¢ Òì¤

(A) 4 cm

(B) 3 cm

(C) 5 cm

(D) 7 cm

122. šøƒv¡ [W¡ìy O ¤õìv¡¹ ëA¡–ƒø ™à¹ ¤¸àÎ AB.
P [¤–ƒåìt¡ "[S¡t¡ ÑšÅ¢A¡ AB-&¹ ¤[‡ý¢¡t¡à}ÅìA¡
Q [¤–ƒåìt¡ ëáƒ A¡ì¹¡ú ™[ƒ Ð = °AQP 40  ÒÚ,
t¡ì¤ ÐAPO Òì¤

(A) 50°

(B) 30°

(C) 90°

(D) 25°
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120. In a trapezium ABCD, AB DC||

and its diagonals intersect at O. If 

AB CD= 3 , the ratio of areas of

triangles AOB and COD is

(A) 9 : 1

(B) 2 : 9

(C) 3 : 1

(D) None of the above

121. The two circles touch each other

externally. The distance between

their centres is 7 cm. If the radius of 

a circle is 4 cm, then the radius of

another circle is

(A) 4 cm

(B) 3 cm

(C) 5 cm

(D) 7 cm

122. In the given figure, O is the centre of 

a circle whose diameter is AB. The

tangent PQ at P intersects extended

AB at Q. If Ð = °AQP 40 , then ÐAPO

is

(A) 50°

(B) 30°

(C) 90°

(D) 25°

40°

P

QA
BO

40°

P

QA
BO



123. ABC Î³ìA¡àoã [y®å¡ì\¹ Ð = °ABC 90 , 
AB = 5 cm &¤} BC = 12 cm. DABC-
&¹ š[¹¤õìv¡¹ š[¹¤¸àÎà‹¢ Òì¤

(A) 13 cm

(B) 6·5 cm

(C) 6 cm

(D) 2·5 cm

124. ™[ƒ &A¡[i¡ Î³ìA¡àoã [y®å¡ì\¹ [t¡>[i¡ ¤à×¹
">åšàt¡ 1 1 2: :  ÒÚ, t¡ì¤ [y®å¡\[i¡¹ [t¡>[i¡
ëA¡àìo¹ ">åšàt¡ Òì¤

(A) 1 : 1 : 1

(B) 2 : 1 : 2

(C) 1 : 1 : 2

(D) 2 : 2 : 3

125. &A¡[i¡ "‹¢¤õìv¡¹ ¤¸àÎà‹¢ 4 cm. ¤õv¡[i¡¹ ¤¸àÎ
AB &¤} ÐACB  Òº "‹¢¤õv¡Ñ‚ ëA¡ào¡ú 
BC = 2 7 cm Òìº AC-&¹ íƒQ¢¸ Òì¤

(A) 6 cm

(B) 5 cm

(C) 4 cm

(D) 3 cm
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123. In a right-angled triangle ABC, 

Ð = °ABC 90 , AB = 5 cm and 

BC = 12 cm. The circumradius of the 

circumcircle of triangle ABC is

(A) 13 cm

(B) 6·5 cm

(C) 6 cm

(D) 2·5 cm

124. If the ratio of three sides of a right-

angled triangle is 1 1 2: : , the ratio

of three angles of the triangle is

(A) 1 : 1 : 1

(B) 2 : 1 : 2

(C) 1 : 1 : 2

(D) 2 : 2 : 3

125. The radius of a semicircle is 4 cm,

AB its diameter, ÐACB  is the angle

of semicircle and BC = 2 7 cm. The

length of AC is

(A) 6 cm

(B) 5 cm

(C) 4 cm

(D) 3 cm



126. &A¡[i¡ ¤õv¡ &A¡[i¡ ¤K¢ìÛ¡ìy "”z[º¢[Jt¡¡ú ™[ƒ
¤õv¡[i¡¹ A¡ìo¢¹ íƒQ¢¸ 6 2 cm ÒÚ, t¡ì¤ t¡à¹
¤¸àÎà‹¢ Òì¤

(A) 6 cm

(B) 3 cm

(C) 4 cm

(D) 5 cm

127.

ABCD ¤õv¡Ñ‚ W¡tå¡®å¢¡ì\¹ BC ¤à×ìA¡ E š™¢”z
¤[‹¢t¡ A¡¹à Òº¡ú ™[ƒ Ð = °BAD 110  ÒÚ, t¡ì¤ 
ÐDCE Òì¤

(A) 110°

(B) 70°

(C) 100°

(D) 90°

128. &A¡[i¡ Q>ìA¡¹ A¡ìo¢¹ íƒQ¢̧  4 3 cm. Q>A¡[i¡¹
Î³Nøt¡ìº¹ ëÛ¡yó¡º Òì¤

(A) 216 2cm

(B) 64 2cm

(C) 96 2cm

(D) 125 2cm
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126. A circle is inscribed in a square. If

the length of diagonal of the square

is 6 2 cm, then the radius of the

circle is

(A) 6 cm

(B) 3 cm

(C) 4 cm

(D) 5 cm

127.

ABCD is a cyclic quadrilateral whose 

BC side is extended up to E. If 

Ð = °BAD 110 , then ÐDCE is

(A) 110°

(B) 70°

(C) 100°

(D) 90°

128. The length of the diagonal of a cube

is 4 3 cm. Its total surface area is

(A) 216 2cm

(B) 64 2cm

(C) 96 2cm

(D) 125 2cm

B

D

C E

A

B

D

C E

A



129. &A¡[i¡ [y®å¡ì\¹ ®è¡[³¹ íƒQ¢̧  t¡à¹ l¡üZW¡t¡à¹ [‡P¡o
ë=ìA¡ 2 cm ë¤Åã¡ú ™[ƒ [y®å¡\[i¡¹ ëÛ¡yó¡º 
12 2cm  ÒÚ, t¡ì¤ t¡à¹ l¡üZW¡t¡à¹ íƒQ¢¸ Òì¤

(A) 3 cm

(B) 4 cm

(C) 5 cm

(D) 6 cm

130. R &¤} r ¤¸àÎà‹¢[¤[ÅÊ¡ ( )R r>  ƒå[i¡ Î³ìA¡–ƒøãÚ
¤õv¡ ‡à¹à ít¡¹ã [¹}-&¹ ëÛ¡yó¡º Òì¤

(A) p ( )R r2 2+

(B) p ( )R r2 2-

(C) p ( )r R2 2-

(D) p ( )R r+ 2

131. 2x &A¡A¡ ¤¸àÎà‹¢[¤[ÅÊ¡ ƒå[i¡ [>ì¹i¡ ëKàºA¡ìA¡
K[ºìÚ 2x &A¡A¡ ¤¸àÎà‹¢[¤[ÅÊ¡ &A¡[i¡ [>ì¹i¡ º´¬ 
¤õv¡àA¡à¹ ÅSå¡ ít¡¹ã A¡¹à Òº¡ú ÅSå¡[i¡¹ l¡üZW¡t¡à Òì¤

(A) x

(B) 2x

(C) x/2

(D) x/3
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129. The base of a triangle is 2 cm greater 

than twice its height. If the area of

the triangle is 12 2cm , then the

height of the triangle is

(A) 3 cm

(B) 4 cm

(C) 5 cm

(D) 6 cm

130. The area of the ring formed by the

concentric circles of radii R and r

respectively ( )R r>  is

(A) p ( )R r2 2+

(B) p ( )R r2 2-

(C) p ( )r R2 2-

(D) p ( )R r+ 2

131. A solid sphere of diameter 2x unit is

melted into a solid right circular

cone of radius 2x unit. The height of

the right circular cone is

(A) x

(B) 2x

(C) x/2

(D) x/3



132. &A¡[i¡ º´¬ ¤õv¡àA¡à¹ ÅSå¡¹ ®è¡[³¹ ëÛ¡yó¡º
x square unit. ™[ƒ t¡à¹ l¡üZW¡t¡à y unit

ÒÚ, t¡ì¤ ëW¡àR¡[i¡¹ "àÚt¡> Òì¤

(A)
1

3
xy cu bic unit

(B) xy cu bic unit

(C)
1

2
xy cu bic unit

(D)
xy

4
 cu bic unit

133. &A¡[i¡ Q>A¡ &¤} &A¡[i¡ ëKàºìA¡¹ "àÚt¡ì>¹
">åšàt¡ 56 : 96. Q>A¡[i¡¹ šø[t¡[i¡ ¤à×¹ íƒQ¢¸
&¤} ëKàºA¡[i¡¹ ¤¸àÎàì‹¢¹ ">åšàt¡ Òì¤ 

(A) 3 : 4

(B) 4 : 3

(C) 5 : 3

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

134. &A¡[i¡ Î³¤à× [y®å¡\ &¤} &A¡[i¡ ¤K¢ìÛ¡ìy¹
š[¹Îã³à Î³à>¡ú [y®å¡\[i¡ &¤} ¤K¢ìÛ¡y[i¡¹
ëÛ¡yó¡ìº¹ ">åšàt¡ Òì¤

(A) 4 : 9

(B) 4 9 3:

(C) 4 3 9:

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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132. The area of the base of a right

circular cylinder is x square unit. If

its height is y unit, then the volume

of the cylinder is

(A)
1

3
xy cubic unit

(B) xy cu bic unit

(C)
1

2
xy cu bic unit

(D)
xy

4
 cu bic unit

133. The ratio of the volumes of a cube

and a sphere is 56 : 99. The ratio of

each side of the cube and the radius

of the sphere is

(A) 3 : 4

(B) 4 : 3

(C) 5 : 3

(D) None of the above

134. The perimeters of an equilateral

triangle and a square are equal. The

ratio of the areas of the triangle and

square is

(A) 4 : 9

(B) 4 9 3:

(C) 4 3 9:

(D) None of the above



135.
sin

sec

cos

cos

26

64

26

64

°

°
+

°

°ec
-&¹ ³à> Òì¤

(A) 0

(B) 1

(C)
1

2

(D) 2

136. sec ( sin )(sec tan )A A A A1- + -&¹ ³à>
Òì¤

(A) 1

(B) 0

(C) 2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

137. ™[ƒ cot A
b

a
=  ÒÚ, t¡ì¤

a A b A

a A b A

sin cos

sin cos

-

+

&¹ ³à> Òì¤

(A) 1

(B)
a b

a b

2 2

2 2

+

-

(C)
a b

a b

2 2

2 2

-

+

(D)
2
2 2

ab

a b+
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135. The value of

sin

sec

cos

cos

26

64

26

64

°

°
+

°

°ec

is

(A) 0

(B) 1

(C)
1

2

(D) 2

136. The value of

     sec ( sin )(sec tan )A A A A1- +

is

(A) 1

(B) 0

(C) 2

(D) None of the above

137. If cot A
b

a
= , then the value of

a A b A

a A b A

sin cos

sin cos

-

+

is

(A) 1

(B)
a b

a b

2 2

2 2

+

-

(C)
a b

a b

2 2

2 2

-

+

(D)
2
2 2

ab

a b+



138. ™[ƒ tan tan ( )4 6 1 0 90q q q= ° Ð Ð °  ÒÚ,
t¡ì¤ q-&¹ ³à> Òì¤

(A) 10°

(B) 9°

(C) 30°

(D) 45°

139. ™[ƒ 2 1 2cos( ) sin( )A B A B+ = = -  &¤}
A, B, A B+ , A B-  ( )A B>   ‹>àuA¡
ÎèÜìA¡ào ÒÚ, t¡ì¤ A &¤} B-&¹ ³à> Òì¤
™=àyû¡ì³

(A) 45°, 15°

(B) 60°, 30°

(C) 30°, 60°

(D) 45°, 30°

140. PQR Î³ìA¡àoã [y®å¡ì\¹ "[t¡®å¡ì\¹ íƒQ¢¸ 
2 5 cm &¤} Ð = °Q 90 . ™[ƒ [y®å¡\[i¡¹
"š¹ ƒå[i¡ ¤à×¹ íƒìQ¢¸¹ Î³[Ê¡ 6 cm ÒÚ, t¡ì¤ 
sin cosR R+ -&¹ ³à> Òì¤

(A)
5

3

(B)
3

5

(C)
2

5

(D)
5

2

141. &A¡[i¡ Qå[Øl¡ 100 m &A¡[i¡ Îåt¡à¹ ÎàÒàì™¸
50 m l¡üZW¡t¡àÚ l¡üØl¡ìá¡ú Qå[Øl¡[i¡¹ l¡üÄ[t¡ ëA¡ào
Òì¤

(A) 30°

(B) 45°

(C) 60°

(D) 90°
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138. If tan tan ( )4 6 1 0 90q q q= ° Ð Ð ° , then

the value of q is

(A) 10°

(B) 9°

(C) 30°

(D) 45°

139. If 2 1 2cos( ) sin( )A B A B+ = = -  and

A, B, A B+ , A B-  ( )A B>  are positive

acute angles, then the values of

A and B are respectively

(A) 45°, 15°

(B) 60°, 30°

(C) 30°, 60°

(D) 45°, 30°

140. In a right-angled triangle PQR, the

length of hypotenuse is 2 5 cm and 

ÐQ  is 90°. The sum of the other

two sides is 6 cm. The value of 

sin cosR R+  is

(A)
5

3

(B)
3

5

(C)
2

5

(D)
5

2

141. A kite is flying at a height of 50 m

with a thread of length 100 m. The

angle of elevation of the kite is

(A) 30°

(B) 45°

(C) 60°

(D) 90°



142. ™[ƒ ABCD &A¡[i¡ ¤õv¡Ñ‚ W¡tå¡®å¢¡\ ÒÚ, t¡ì¤

tan tan tan tan
A C B D

2 2 2 2
-

&¹ ³à> Òì¤

(A) 3

(B) 2

(C) 1

(D) 0

143. >ãìW¡¹ ëA¡à>[i¡ Î³Ñz š™¢ì¤Û¡ì>¹ l¡üš¹ [>®¢¡¹
A¡ì¹ >à?

(A) ë™ï[KA¡ KØl¡

(B) Î}J¸àP¡¹ç¡ ³à>

(C) P¡ìoàv¡¹ ³à>

(D) [¤š¹ãt¡ KØl¡

144. [>³—[º[Jt¡ Î}J¸àP¡[º¹ ëÎìi¡¹ Î}J¸àP¡¹ç¡¹ ³à>
A¡t¡ Òì¤?

9, 0, 2, 8, 5, 3, 5, 4, 1, 5, 2, 7

(A) 2

(B) 5

(C) 8

(D) 9
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142. If ABCD is a cyclic quadrilateral,

then the value of

tan tan tan tan
A C B D

2 2 2 2
-

is

(A) 3

(B) 2

(C) 1

(D) 0

143. Which of the following is not based

on all observations?

(A) Arithmetic mean

(B) Mode

(C) Geometric mean

(D) Harmonic mean

144. The mode of the following set of

numbers

9, 0, 2, 8, 5, 3, 5, 4, 1, 5, 2, 7

is

(A) 2

(B) 5

(C) 8

(D) 9



145. &A¡[i¡ š[¹Î}J¸à [¤®¡à\ì>¹ Î}J¸àP¡¹ç¡ ³à> &¤}
ë™ï[KA¡ KìØl¡¹ ">åšàt¡ 5 : 2 Òìº &Òü
[¤®¡à\>[i¡¹ ë™ï[KA¡ KØl¡ &¤} ³‹¸³à¹ ">åšàt¡
Òì¤

(A) 3 : 2

(B) 3 : 4

(C) 2 : 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

146. 0, 2, 3, 5, 7, 7, 9, 10 Î}J¸àP¡[º¹
ëÎìi¡¹ ³‹¸³à Òì¤

(A) 6

(B) 7

(C) 5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

147. 4, 5, 8, x +10, 2 6x + , 3 5x + , 30, 40 

Î}J¸àP¡[º¹ ëÎìi¡¹ KØl¡³à> 24 Òìº x-&¹ ³à> 
Òì¤

(A) 15

(B) 14

(C) 16

(D) 17
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145. In a frequency distribution, the ratio 

of mode and mean is 5 : 2. The ratio

of mean and median of the

distribution will be

(A) 3 : 2

(B) 3 : 4

(C) 2 : 3

(D) None of the above

146. The median of the set of numbers

0, 2, 3, 5, 7, 7, 9, 10

is

(A) 6

(B) 7

(C) 5

(D) None of the above

147. If the mean of the set of numbers

4, 5, 8, x +10, 2 6x + , 3 5x + , 30, 40 is 

24, then the value of x is

(A) 15

(B) 14

(C) 16

(D) 17



148. 20–24, 25–29, 30–34 ëÅøoãÎ³èìÒ¹ ³ì‹¸
25–29 ëÅøoã¹ ëÅøoã-Îã³à>à Òì¤

(A) 24·5, 29·5

(B) 25·5, 29·5

(C) 25·5, 30·5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

149. ëA¡àì>à š[¹Î}J¸à [¤®¡à\ì>¹ ë³ài¡ š[¹Î}J¸à
100 &¤} &A¡[i¡ ëÅøoã¹ š[¹Î}J¸à 11 Òìº '
ëÅøoã[i¡¹ "àìš[Û¡A¡ š[¹Î}J¸à Òì¤

(A) 11

(B) 1·1

(C) 0·11

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. &A¡[i¡ š[¹Î}J¸à [¤®¡à\> áìA¡¹ Î³à> íƒQ¢¸[¤[ÅÊ¡ 
ëÅøoãP¡[º¹ ³‹¸³à>P¡[º Òº

    37, 42, 47, 52, 57, 62, 67, 72

ëÅøoãP¡[º¹ íƒQ¢¸ Òì¤

(A) 5

(B) 4

(C) 6

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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148. The class limits of the class 25–29

among the classes 20–24, 25–29,

30–34 will be

(A) 24·5, 29·5

(B) 25·5, 29·5

(C) 25·5, 30·5

(D) None of the above

149. In a frequency distribution, the total 

frequency is 100 and the frequency

of a particular class is 11. The

relative frequency of that particular

class will be

(A) 11

(B) 1·1

(C) 0·11

(D) None of the above

150. In a frequency distribution, the size

of classes are equal and the

midpoint of the classes are

      37, 42, 47, 52, 57, 62, 67, 72

The size of the classes will be

(A) 5

(B) 4

(C) 6

(D) None of the above
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡
A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹ OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹ OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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